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This is a closed book exam. Absolutely nothing is permitted except pen, pencil and eraser to
write your solutions. Any academic dishonesty will be prosecuted to the full extent

permissible by university regulations.

Time allowed 100 minutes.
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PrOblem1(20p0ints) \ A= &(’U K’u)-}» &7({,) ](‘}’)

Obtain a high
below. The s

-level description (state tran
ystem has two input bits x; a

sition table) of the network shown in the figure
nd xo, with a single output bit z.
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problem 4

Givenm NP




. I
jem 5 (20 points) L
Pro
ing atmost 1 JK flip-flop, at mogt 1 gp flip-flop, ang at ; .
SL;?;:;’ 25 specified below, Yoy may use any gatSs o x:p?emﬂ 8D flip-flops, design a

Input SeE {0,1} -t @g-0«

Output: 1, if x(t, t-3)=1 1-0, x(t-4, t-7)=1-

100 0-0-, x(t-8, t-11)=1001
0, otherwise

For example, for the given in

put sequence x(t, t-11)=110010101001, outputis 1. For the
input sequence X(t t-11)=

100101 1, outputj

Qs
4 R 'R 0 R |[— |0 a|
4 5 i | 03 /——71
e ) e l K |
: R Q:L @g Q‘f e QG Q4 ;,)
L. \'v L $ L L e |
et D Bfle wry TK g by W )
: v
S(L’(Zhe~ﬁa\P
WA
) = 8CH1) D oAt
5 O 0 0 0 (
il ? [ . 0 FFS ( Lo o o
b O s ¢
\—% 0 2 J.O-_—r\l =
A=y AL IK i) ”J[U
K- x'
NS S(/H(,U-\)
n 21 { 0 \)
0
* ikl L L
. 0
Al kAl ;ik <\0\ Cn (:’\ N
Gt (o S [ v
0-3) 01 SUR LAY g VAN
{1 e

L= } it






